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1 Uwpwupubn
33000000 (Hnnpwip U wwwnydwuwnwunieptip
33661250 | mpnitnny 1%-14; < upyuly 780 0 0
33661250 | mpnitnny 1%-14; c< upyuwy 200
33661120 |Unpdhin 1%-14p c< upyuy 420 0 0
33661120 |Unppht 1%-1; c< unyuwly 100
33661114 |Bhiunwihy 0,05uq 2up c< upyuwy 420 0 0
33661114 |Phnwlpy c< unyuwly 420
33691226 |Spwuwnny 100uq /2u) N5 c< wnup 576.64| 5766.4 10
33691226 |Spulwnny 100ugq /2u; N5 c< wnuh 50
33661136 |Uuwjwniphu 24) 10dg N10 < winuth 842.78| 16855.6 20
33631046 |Uuwjwnippht 24 10dg N10 c< wnuh 40
33661000 |Ukjopuhljud 155 N20 c< wnup 1900 0 0
33661000 |Utjopuhljud 155 N20 c< wnuh 50
33661113 |@hnwhuwnw] uwwnphnuwh 0.5q < winuth 1913.5 0 0
33661113 |(Ghnwbuwnw| uwwnphnuwh 0.5q c< winith 60
33661112 [Mpnwndn| wdy. 204) N5 23 winuh 4845 72675 15
33661112 [Mpnwn$n| widy. 204) N5 c< wnu 45
33661000 |Uhnuqku 15ug/3u; N5 c< winuh 6254.24 0 0
33661000 |Uhnwuqgbd 15uq/3ud] N5 c< wntth 36
33661100  [Spwlphnid wdwy. 2.50) N5 c< wnuh 4425 44250 10
33661100  [Spwlphnud wiuy. 2.50) N5 c< wnu 30
33661000 [Yhpnlwht wdw.5.0dq/1040] N10 c< wnuh 25920 0 0
33661000 |Yhpnlwhu wiw.5.0uq/10d; N10 c< winith 6
33661115 |Pnuyhywlwihtu Uwhuwy 0.5% 5udg/d) 4d) N5 c< wnuh 6325 94875 15
33661115 |Pnuyhywlwjhtu Uuhuwy 0.5% 5dg/d) 4d) N5 c< winith 55
33661100  [Yhinhjhtu 20dq/50] N10 c< wnuh 2000{ 30000 15
33661100  [Yhinhjhtu 20dq/50) N10 c< winith 21
33661100 [Ywihwun 500dqg/10d N5 c< wnnuth 7134.74 0 0
33661100 [Ywihwun 500dg/10d; N5 c< wnnuth 60
33660000 _|Uinunghts n/h 0.5 N20 c< wnuh 111.27| 44508 40
33660000 |Utnunghts n/h 0.5q N20 e< wnuh 60




c<

33660000 |Uuynphi Upthh N10 winuth 125.41 0
33660000 |Uuynht Uphh N1O c< winuh 100
33670000 |Uupuyhtt gnquighp 100ulq c< wnu 947.73| 9477.3 10
33670000 |Uupuwyht gnnwghp 100uyg < winuh 50
33611240 |UywhJugqwd wénifu 0.25gp N10 c< winuth 71 0 0
33611240 [Uywnhjwgywd wdnifu 0.25gn N10 c< wnuh 100
33671125 |Udppnpun) 0.03N20 c< winuth 373 0 0
33671125 (Udppnpun) 0.03N20 c< wnuh 100
33621740 |Udinnhwhu 10dq N30 < winuh 170.75 0 0
33621740 |Udinnhwhu 10dq N30 c< wnu 30
33622000 |Unpkuwihuh h-n wdwy. 0.18% N10 < winuh 1215 91125 75
33622000 |Unpbuwihup h-n wdwy. 0.18% N10 c< wnu 75
33620000 |Upphwing 100dq N10 < winuh 3757.6 0 0
33622000 |Upphwing 100dg N10 c< wnu 30
33621710 |Uwkunin, 100dg N30 < winuh 179.86 0 0
33621710 |Uwkuniny, 100dg N30 c< wnu 50
33611130 |Uwpnwhu 0.1% Tml N10 < winuh 622| 12440 20
33611130 |Uwpnwhu 0.1% Tml N10 c< wnu 80
33621420 |Uwnpjwuwnwinhu 20dg N30 < winuth 2610.1| 20880.8 8
33621420 |Uwnpdwumnwinht 20dg N30 c< wnuh 2
33650000 |Ughuwl 500dq N3 < winuth 1500 0 0
33650000 |Ughuwl 500dq N3 c< wnuh 50
33621000 |Uywinytight 400uq 104] N5 < winuth 9524.8| 19049.6 2
33621000 |Ulwnytight 400dq 100 N5 c< wnuh 18
33621000 |Ulwinytight 200uq 54 N5 < winuth 4920 290280 59
33621000 |Ulwnytight 200uq 54 N5 c< wnuh 91
33621000 |Ulwndtight 80uq 24 N25 < winuth 13500 40500 3
33621000 |Ulwnndtight 80uq 24 N25 c< wnuh 57
33621160 [Udhunjuwpnuwppent |- 5% 2504] 23 winuh 420 29400 70
33621160 |Udhunlwwpnuwppent -p 5% 2500 c< winith 30
33651111 |Udnpuhghihti 500ug N20 23 winuh 529.2 0 0
33651111 |Udnpuhghihu 500dg N20 c< wnu 100
33651111 |Udnpuhghihti 250dq N10 23 winuh 135 0 0
33651111 |Udnpuhghihtu 250uq N10 c< wnu 100
33651100 |Uniqukunhu 3750q N20 23 winuh 2958 0 0
33651100 |Uniqudkumnhu 3750q N20 c< winith 30
33651100 |Uniqukuwnhu 6250q N14 23 winuh 1845 83025 45
33651100 |Uniquikunhu 625d0q N14 c< winith 5
33651100 |Udwh $hiyn 500uq N10 c< winith 294| 8820 30
33651100 [Udwh $hiyn 500uq N10 c< winith 70
33622200 |Udwphjwu 10dg N30 c< wnu 1561.75 0 0
33622200 |Udwphjwu 10dg N30 c< winith 10
33622200 [Udwphjwu 5dg N30 c< wnu 1234.4 0 0
33622200 |Udwphjwu 5dg N30 c< winith 10
33620000 |ruwpwnhy 10 dg N28 c< winith 2920.65 0 0




33620000 [fuwpwhy 10 dg N28 c< wntth 10
33660000 |Uuwight 50% 24| N10 c< winith 284| 85200 300
33660000 |Uuwight 50% 2u) N10 (29 winuh 900
33660000 |Uughnyhwin N60 c< winith 8800 0 0
33660000 [Uughnyhwn N60 c< wntth 30
33611350 |Uuynpphtwpepent wdw. 5% 54 N10 c< winith 504| 100800 200
33611350 |Uulynpphtuwppent wdy. 5% 54) N10 (29 wnuh 300
33611350 |Uuynpphtwpepent wiy. 5% 24 N10 c< winith 239 0 0
33611350 |Uulynpphuwppnt wdy. 5% 24; N10 (29 wnnuh 100
33621100 |Uuwhphu upnhn 300dq N20 c< winith 595| 29750 50
33621100 [Uuuhphtu Yuipnhn 300dg N20 c< winuh 50
33671000 [USS n/h 100dq N20 c< winuh 1390| 13900 10
33671000 [USS n/h 100dq N20 < winuh 10
33651100 |Ughppnuhght 250uq N6 c< wnu 580 0 0
33651100 [Ughppnihghtu 250d0q N6 (29 winuh 60
33660000 |Uwwpwpu 250g N25 c< wnu 1245 3735 3
33660000 |Uwnwpwpu 25uq N25 (29 winuh 2
33661151 |Ughyindhp-Ulyph 200dq N20 c< wnup 351.99| 10559.7 30
33661151 [Ughyinyhp-Uyph 200dq N20 c< winuh 10
33651112 |Udnpuplyjwy n/p 156.250q/5d] 1004 c< wnuh 1392 0 0
33651112 |Udnpuhlywy n/p 156.25dq/54) 1004 c< winuh 20
33651110 |Uniqubunhu n/p 156.251q/54] 1004) c< winith 2048| 88064 43
33651110 |Uniqukuinhu n/pe 156.25uq/54] 1004 < winuth 7
33611341 |UpJwnbwnphd Jhwn.D3 104 c< wnup 1686| 42150 25
33611341 |Updwnbtwnphd yhn.D3 104; c< wnuth 175
33670000 |ULyw Uwphu dwululw 104 c< wnuh 1062 0 0
33670000 |UYyJw Uwphu dwulwlwu 104 c< wnnuh 100
33651114 |Phughjwbiuhghiht 1g c< wnup 97.5| 48750 500
33651114 |Pkughwbuhghihtu 1q < winuh 1000
33631210 |PLunwdbnwgnu punip 0.1% 15q c< winuh 890 8900 10
33631210 |Phwnwdbnwgnu punip 0.1% 15q < winuh 15
33670000 |Pbpnnniwy - 2us. c< wnup 322451 48367.65 15
33670000 |Pbpnnnuwy |- ous. c< wnntth 45
33631282 |Phuwnht htipiing. Undhly 200dq N14 c< wnu 1990 3980 2
33631282 |Pbwnwnhu htipiing. Undhy 200dq N14 < winuh 18
33621720 |Phunwpnin| 5dq N30 c< winith 662.15| 66215 10
33621720 |[Phwpn| 5dg N30 c< wintth 50
33613000 |Ppuwlnnhy dndply 10dg N10 c< wnu 484.88 0 0
33613000 [Phuwlnnhy dndhly 10dg N10 c< winuh 150
33620000 (Phwpn) 5dg N30 c< wntth 662.15 6621.5 10
33620000 |[Phwpn| 5dg N30 c< wnntth 40
33621000 |Ptpihwphy wynw10dg/25uq N30 c< winith 1860 74400 40
33621000 [Pbtpihwphy wynw10dg/25dg N30 c< winith 60
33621000 |Pbtphwphy 10dg N30 c< wninih 1099 10990 10
33621000 [Pbpihuwphy 10dg N30 c< winuh 40




33671000 |Ppnuhtipuht 8UgN50 (29 winuh 137.55 11004 80
33671000 |Ppnuhbipupt 8ugN50 c< winith 20
33631281 |Pwjwuuwjht upp. dhouluyh 40q c< wnuh 323.3| 80825 25
33631281 [Pwjwluwiht upp. Yhpuluyh 40q c< winuh 5
33671000 |[Ppnufunihwnpu o). c< wntth 402 0 0
33671000 |Ppnuflunihwnpl o). c< wnntth 30
33650000 |Pwlwphd 09.240uq/50] 1004] c< wnntth 1990| 49750 25
33650000 |[Pwlwphd 02.240dq/54] 1004) c< winith 75
33650000 |Pwlwphd $npink 960uqg N10 (29 winuh 1779| 163668 92
33650000 |Pwljinphd $npinti 960dq N10 c< winith 8
33620000 |Mnitipinhly 24dq N60 (29 winuh 4148.69| 12446.07 3
33620000 |Mnidtpunply 24dq N60O e< winith 17
33691138 |9yniynqu40% 5.0 N10 (74 wnnuh 310 15500 50
33691138 |Yyniynqu40% 5.0 N10 (29 winuh 150
33651126 |Ybunwihght wdw.4% 80uq/2u| N10 < winuh 619 0 0
33651126 |YbUnwidhght wdw.4% 80uq/2d) N10 c< winith 100
33691138 |9yniynqui10% 2004) (74 wntth 390 0 0
33691138 |Synilnqui10% 2004; c< winuh 100
33691138 |9yniynqu 5% 2504; (74 wnnuth 190/ 128250 675
33691138 [Yyniynqui 5% 2504) c< winuh 825
33691138 |Qyniynqui 5% 5004] (74 wntth 195 87750 450
33691138 |9yniynqui 5% 5004) c< wnnih 1550
33610000 |%4hghtu 0.1q N50 n/h c< wntth 262.89 0 0
33610000 |9hghu 0.1 N50 n/h (29 wnnuh 20
33610000 |%hghu 1.5% 30004, (74 wntth 1680 0 0
33610000 |%hghu 1.5% 30004; c< winith 60
33621000 |<bujwnpuig 4004 N5 c< wntth 18800 94000 5
33621000 |<bujinpuwy 4004) N5 c< wnup 5
33675000 |hdtinpnp1% 1.0 N10 c< wnnuth 189 75600 400
33675000 |hutinpng 1% 1.0 N10 (29 winuh 1100
33621600 |Yhpwqgny 1% 1d) N10 < winuh 227 0 0
33621600 |Hhpwgn) 1% 10 N10 c< wnuth 150
33621600 |hpwgny 1% 54 N10 c< wnnuth 390 27300 70
33621600 |Yhpwgny 1% 54 N10 c< winuh 130
33621380 |Yhgopuhu 0.250q N40 < winuh 226 2260 10
33621380 |“Yhgopuhu 0.250q N40 c< winuh 20
33621380 |"Yhqopuht wuy. 0.25uq 1) N10 23 winuh 730| 43800 60
33621380 |"Yhqopuht wuy. 0.25uq 1) N10 c< winith 40
33691121 |MQuphu 150ug N1 c< winith 675.12 0 0
33691121 |M{uphu 150ug N1 c< wnup 10
33631310 |Hhyinpbuwl wiy. 754q 34} N5 c< wnup 370| 122100 330
33631310 |Yhyndbuwl wdy. 75uq 34 N5 < winuh 270
33661153 |hpuwdbpwgnu wdy. 4dg/d) 1d] NS c< winuh 249 199200 800
33661153 |hpuwdbipwagnu wdw. 4dg/d) 14] N5 < wnnuh 700
33661153 |Hipuwdbpwgnu wdw. 8dg/2d) 14 N10 c< winith 828 0 0




33661153 |“hpuwdbpwgnt wdy. 8dg/2d) 1d; N10 c< winuth 100
33630000 |Yhupnuwjwt 16 N5 c< wnuh 11345| 34035 3
33630000 |“‘thuwypnuwwt 1d) N5 2
33611000 |Hhuppunpy 30Uy c< wnuh 2927.18| 29271.8 10
33611000 |%Yhubpwnhy 30uy c< wnup 20
33631310 |2ntipu 2u) N5 c< wnuh 2160| 129600 60
33631310 |%njkipu 2up N5 c< wnup 90
33631310 |Yhynu dndhly 100uq N10 c< wnuh 999 19980 20
33631310 |Yhynu dndhly 100uq N10 < winuh 80
33631310 |Yhynu undhly 50ug N10 c< wnu 862.37| 17247.4 20
33631310 |[Yhynu dndhly 50ug N10 < winuh 30
33651127 |"npuwghlihuh hhnpnpinphn 0.1 N10 c< wnu 99 7920 80
33651127 |“npuwghyihuh hhnpnpinphn 0.1 N10 < winuh 220
33641000 |Hnibwuwnt 10dg N20 c< wnu 5880| 441000 75
33641000 |[Hnibwuwnnu 10dg N20 < winuh 25
33620000 |"nutighin 2500q N50 c< wnu 1982 29750 0
33620000 |"nujtighwn 250uq N50 < winuh 15
33611170 |Ypnunwybiphuh h/p 400q N20 c< wnu 160 0 0
33611170 |nunwytiphuh h/p 40u0g N20 c< wnu 50
33611170 |nunwybiphuh h/p 20uq/4; 24 N10 c< wnuh 494| 39520 80
33611170 |Ypnuwybiphuh h/p 20uq/d; 24 N10 < winuth 120
33620000 |“npnunwdhtu 250uq N1 c< wnuh 5240 0 0
33620000 |“npnunwdhtu 250uq N1 < winuth 10
33620000 |"nuwydht wiw.40ug5U0IN5 c< wnuh 3955| 15820 4
33620000 |"nuwdht wiw.40ug5U0IN5 < winuth 6
33622200 |hjwwnpbun 25dq N30 c< wnuh 13533| 67665 5
33622200 |hjwwnpbun 250q N30 < winuth 75
33622200 |hjwwnpbun 6.250q N30 c< wnuh 8611.3| 43056.5 5
33622200 |Vhjwwnpbun 6.250q N30 23 winuh 115
33622200 |hjwwnpbun 12.50q N30 c< wnu 10803| 54015 5
33622200 |hjwwnpkun 12.50q N30 23 winuh 45
33671000 |"nlwinp dnd o). 1004] c< wnu 1636.8 0 0
33671000 |"nluinp dnd o). 1004] 23 winuh 10
33671000 |7nlwnp Udnd punip 20q c< wnu 1190 0 0
33671000 [“nlwinp dnd punip 20q 23 winuh 10
33620000 |“Vhunpwikipu 5000q N60 c< wnu 4440( 44400 10
33620000 |“Yhinpwibipu 5000q N60 23 winuh 20
33622000 |Yhpninnu 10dg N56 c< wnu 2600.6| 13003 5
33622000 |Yhpnuint 10Ug N56 c< wnup 5
33610000 |Hnibuiul 0p-Y c< winith 3178.4| 15892 5
33610000 |Hnibwjwl 02-Y c< winith 25
33620000 [2nlwpnhu 30 N28 c< winith 4700 4700 1
33620000 |2njwpnhu 30 N28 c< winith 9
33650000 |2buwnb) 400uq N1 c< winith 1190 0 0
33650000 |2buwntj 400dq N1 c< winith 100




33670000 |Enibhiht 24ug/d) 5.0 N10 c< winuth 318 79500 250
33670000 |Enihhihtu 24udg/d) 5.0 N10 c< wnuh 350
33621520 |Euwjwuyphy -< N20 c< winuth 382| 19100 50
33621520 |Euwjwuyphy -< N20 c< wnuh 50
33621520 |Euwjwuyphy -<L N20 c< winuth 309.17 0 0
33621520 |Euwjwuwph) -<L N20 40
33620000 |Euwuy -H 10dg N20 c< winuth 668.34| 56808.9 85
33620000 |Euwuy -H 10dg N20 c< wnuh 115
33621000 |Eubughwit wdw.54) N5 < winuh 3360 0 0
33621000 |Eubughw)b wdw.54) N5 c< wnu 30
33620000 |Eghiny ntnnwipn n/h 100dq N30 < winuh 3082.56| 15412.8 5
33620000 |Eghiny nttnwipn n/h 100dq N30 c< wnu 25
33642230 |Enyshpnpu n/h 50dg N100 < winuh 1256.3| 62815 5
33642230 |Enyehpnpu n/h 50dg N100 c< wnu 5
33611341 |@hwihu wdy. 5% 16 N10 < winuh 179.2 0 0
33611341 |Fhwihu wdy. 5% 16 N10 c< wnu 60
33642230 |(@hpngn| 5dq N50 < winuh 1661 8305 5
33642230 |(dhpngn| 5dq N50 c< wnu 15
33631290 |Ppniypndhl 0.2q N50 c< wnup 278.74 0 0
33631290 |Ppniynndtu 0.2q N50 60
33631290 |Ppniypndhl 0.4q N30 c< wnup 705| 142000 30
33631290 |Ppniypndku 0.4q N30 170
33691129 |Pniuin Skp {-p 500U} c< wnup 478 19120 40
33691129 |Pnun Skp j-p 5001 c< wnuh 60
33622000 |Lhqhtinuphy 5uq N24 c< wnup 482 2410 5
33622000 |Lhqhtinuphy 5uq N24 c< wnuh 25
33620000 |Lhqhtinyphy 10dg N30 c< wnup 880 0 0
33620000 |Lhqhtinwphy 10ug N30 c< wnuh 50
33661116 |Lhnnluwjhtu 2% 2.0N10 23 winuh 221 4420 20
33661116 |Lhnnlwjht 2% 2.0N10 c< wnu 40
33642230 |L-phpnpuht 1004q N100 23 winuh 1390 6950 5
33642230 |Enuyshpnpu 100dg N100 c< winith 5
33611000 |Lhubipu N16 23 winuh 1678.2| 50346 30
33611000 |Lhubipu N16 c< wnu 170
33611000 |Lhubipu $npink N28 23 winuh 2939 5878 2
33611000 |Lhutipu $npink N28 c< wnu 28
33620000 |Lnphunw 100dg N28 23 winuh 1615.65| 16156.5 10
33620000 |Lnphunnw 100dg N28 c< wnu 10
33620000 |Lnphuww 50dq N28 c< wnup 991.12| 9911.2 10
33620000 |Lnphunnw 50dq N28 c< winith 10
33620000 |Lnphuwnw 100dg/12.50q N28 c< wnup 730.3| 7303 1
33620000 |Lnphuwnnw 1004g/12.50q N28 c< winith 19
33620000 |Lnighiinwd 800ug N30 c< wnup 1569.3 0 0
33620000 |Lnighiinwd 800ug N30 c< wnup 10
33611200 |Lnwbpwdhn 2dq N10 c< wnup 75.35 0 0




33611200 (Lnwbtpwdhn 2dg N40 20
33620000 |Uwnphu 20udqg N30 c< winith 4220 0 0
33620000 [Uwnphu 20ug N30 c< wntth 10
33611200 |Lnpwwwnhu 10dg N10 c< wnup 380| 19000 50
33611200 |Lnpwwnwnhu 10dg N10 (29 winuh 50
33620000 |Lhnwint 1000gk) c< wnup 2476.84| 24768.4 10
33620000 [Lhnwinu 1000qgk; c< wntth 20
33620000 [Ynpdwnhu 254; c< wnnuth 630 18900 30
33620000 [YUnpdwnhu 254; c< wnuth 70
33620000 |Unpquwin 250; c< winith 130 3250 25
33620000 [Ynpdwn) 254) c< wnuth 75
33621690 [Ywpytinhing 12.50q N40 c< winith 1145 11450 10
33621690 |Ywpytnhn 12.50q N40 (29 winuh 50
33621690 |Ywpyhnh; 25dq N1 ¢< | nbnwhw 28| 7840 280
33621690 [Ywpyhnhy 25dq N28 2120
33621690 |Lwpyhnh| 6.250q N ¢< | nbnwhw 14.87| 4163.6 280
33621690 [Ywpyhnh| 6.25dq N1 2120
33620000 |4wpnhlytitn Ninwpn-20 N50 c< winith 1364| 68200 50
33620000 [Ywpnhybwn MNHhnwpn-20 N50 < winuh 10
33620000 |Ywpnhltitn Ninwpn-40 N50 c< winith 2409.4| 72282 30
33620000 |[Ywpnhybtinn NGwnwpn-40 N50 40
33621510 |Ywwnwnph 50dq N24 c< wnup 267| 200000 40
33621510 |Ywwnwph) 50dq N24 < winuh 260
33621510 |Ywwnwnphy 25uq N40 c< wnup 178| 17800 100
33621510 |Ywuwnwph| 25dg N40 (74 wnth 400
33651148 |Yininphdwgn) punip 15¢ c< wnup 191 1910 10
33651148 |Yjnunphdwgn) punip 15q c< wnnuh 90
33691134 |Ywihnuwih pinphn |-p 4% 2004; c< wnup 410 0 0
33691134 [Ywhnuwh pinphn |- 4% 2004 &< wnuh 50
33691134 |Ywihnwh pinphn - 4% 1000 c< winith 390 0 0
33691134 [Ywihnuwih pinphn - 4% 1004] &< wnuh 40
33671135 |4wighnuih pinphn 10% N10 c< wnu 315 0 0
33671135 [Ywighniwh pinphn 10% N10 &< winuh 100
33620000 |4wpnhndwquh; 750q N100 c< winith 1734| 199410 115
33620000 [Ywpnhndwquh; 750q N100 &< winuh 35
33620000 |4wpnhndwquh) 150dq N100 c< winith 1936| 58080 30
33620000 [Ywpnhndwquhy 150ug N100 < winuh 20
33660000 |Ybwntw) wiuy. 50uq 24 N10 c< wnup 1781.34| 124693.8 70
33660000 |Ybnwpndbu wiy. 50dq 20) N10 c< wnup 230
33660000 |Ytiwnnuw) 50dq N25 c< wnnuh 1195 59750 50
33660000 |Ytiwnnuw) 50udqg N25 c< wnntth 50
33660000 |Ytinnuw) 150dg N30 c< wnnuh 2460 49200 20
33660000 |Ybwnuw] 150dq N30 < winuh 30
33660000 |Ybwnnuw) $npwnk 100ug N20 c< winuh 1344 107520 80
33660000 |Ybwnnuw| $npunb 100dg N20 c< winuh 20




33660000 |Ybnnuw] nbnnwipn 1500q N20 c< winuth 1700[ 34000 20
33660000 [Ytwinuw) nbunwpn 150dg N20 c< wnuh 80
33620000 |Ynpnupnu 200dq N30 c< winuth 2460| 73800 30
33620000 |Ynpnupnu 200dq N30 c< wnuh 20
33620000 |Ynpnhwihu wdy. 25% 24 N10 c< winuth 1185 47400 40
33620000 |Ynpnhwihu wdw. 25% 24 N10 c< wnuh 60
33621340 [Yndbhu -Uwwnphnuwh phugnuwwn wdw. 20% 1d) N10 e< i 385 30800 80
33621340 |Un$bihl -twinphnudh phugnbiwn wd. 20% 16 N10 < nnup 120
33621340 |Un$bht -twinphnwh phgntiwn wiw. 10% 14 N10 e< nnuf 317.5 0 0
33621340 |Un$bht -twinphnwh phugntiwn wiwy. 10% 14 N10 e< nnuf 50
33650000 [Sk$nwnwpupd 1q < winuh 345 0 0
33650000 [8tdnunwpupd 1g 150
33620000 |UYnulynp 5dq N50 < winuh 2600| 104000 40
33620000 |Untlynp 5dq N50 c< wnu 60
33620000 [Ynulnp Unp 2.5u0q N30 < winuh 1351.1| 33777.5 25
33620000 |Unulynp Unp 2.50q N30 c< wnu 75
33611420 [Ywighnuwh gyniynuwwn 10% 104 N10 < winuth 1100 5500 5
33611420 |Ywighnuwih gyniyntwin 10% 104) N10 c< wnuh 45
33611420 [Ywighnuwh gyniyntuwwn 10% 5d) N10 < winuth 714 24990 35
33611420 |Ywighnuwih qyniyntiwwn 10% 50 N10 c< wnuh 65
33611420 [Ywighnuwh gyniynuwwn 0.5 n/h N10 < winuth 57 0 0
33611420 |Ywighnuwih gyniyntwn 0.5 n/h N10 c< wnuh 60
33620000 [Ynlwppopuhjwqw wdw.50dqg 2d; N10 < winuth 3900 7800 2
33620000 |Unlwppopuhjwqw wiw.50ug 24 N10 c< wnuh 13
33610000 |Uptinu 25000 n/w N20 < winuth 6924.87| 69248.7 10
33610000 |Uptinu 25000 n/w N20 c< wnuh 5
33691175 |Yjhnu D 100dq N10 23 winuh 1405.53| 35138.25 25
33691175 |Yjhnu D 100dq N10 c< wnu 25
33620000 |[4)Gpuwu wwwnpwuwnh ubip-hs 0.2d; N2 23 winuh 3152 78800 25
33620000 |Yjbpuwl wwnpuwuwnh ubip-hs 0.2 N2 c< winith 55
33611420 |Ywigh D3 $npnk 5000q/400ME N120 23 winuh 4815.1 48151 10
33611420 |4wigh D3 $npunki 5008q/400ME N120 c< wnu 10
33630000 |Ybuwnpu 10dq N10 23 winuh 2871.6 0 0
33630000 |Ybkuwnpt 10dq N10 c< wnu 20
33630000 |Ybuwnhu 20uq N10 23 winuh 3470 0 0
33630000 |Ybuwnhu 20uq N10 c< wnu 20
33650000 |Ywiknnu 30q |- 2Us. c< winith 1416.1| 2832.2 2
33650000 |Ywdtinnu 30q |- 2Us. c< winith 48
33620000 |Ywyhuwnt $npwinki n/h100dg N30 c< winith 2216.02 0 0
33620000 |Ywyhuwnnt $npunti n/h100dq N30 c< winith 10
33621390 |Ynpnwpnu wuw.5% 34 N10 c< winith 2800| 14000 5
33621390 [Ynpnwpnu wdw.5% 3d) N10 c< winith 15
33621100 |<bwuwphu-thlyn 541 N5 c< winith 5340 373800 70




33621100 |<bwwphu-fhyyn 5d] N5 c< wntth 30
33621100 |<buwjwpht punip 25q c< wnup 508.64| 10172.8 20
33621100 |<bwwphu punip 25q c< winuh 20
33620000 |<hwnubin 5dq/10uq N40 c< winith 2540 22860 9
33620000 [<hwnubin 5uq/10dg N40 c< wnuh 31
33621320 |<wyyth hwuniy 10 N10 c< winith 315/ 15750 50
33621320 [<wybh hwundy 16 N10 c< wnuh 10
33631220 |[<hnpnynpuinhgnt punip 1% 15q c< winith 228 2280 10
33631220 [<hnpnynpuinhgnt punip 1% 15q < winuh 20
33691123 |Utipkunwqgn) 100dq N6 c< wnu 248.04 0 0
33691123 |Utpkunwgn) 100dq N6 < winuh 10
33650000 |Utiinpnupnuqgni 500uq N20 c< winith 570.95| 28547.5 50
33650000 |Utiinpnuhnwgni 500uqg N20 < winuh 50
33660000 |Utpuhwphu 2uj N10 c< winuh 2800| 14000 5
33660000 |Utpuhwphu 2d] N10 c< wnth 145
33660000 |Utpuhnn; 100ug/ 2uj N10 c< winuh 34442| 103326 30
33660000 |Utpuhnni 100dg/ 2ud; N10 c< wnth 20
33621700 |Ulkwunypning 50ug N30 c< winuh 382| 8404 22
33621700 |Ukwnypning 50ug N30 c< wnuh 8
33631286 |Uhlynuwqn) u-p 2% 15q c< wnnuh 320 3200 10
33631286 |Uhyntwuqn u-p 2% 15q c< winith 10
33611341 |Uwgquk B6N50 c< winuh 2700| 216000 80
33611341 |Uwquk B6N50 c< winith 70
33691145 |Uwqubighnwih unybwin 25% 5ml N10 c< winith 286.2| 44361 155
33691145 [Uwqubighniih unidwn 25% 5Sml N10 c< winuh 145
33620000 |Uwup -Shl |- 10% 4004} c< winith 580 0 0
33620000 [Uwuh -Sk |- 10% 4004; c< winuh 60
33611000 |Utighu $npunk N20 c< winith 629.97| 25198.8 40
33611000 |Utighd $npinti N20 23 winuh 160
33630000 |Utln| Pnphutin punip 40q c< wnu 270 0 0
33630000 |UtYn| Pnphubin punip 40q c< wnntth 100
33611160 |Utiinnyinupwidhn 5dq/20) N10 c< wnup 497| 29820 60
33611160 |Ubkwnyinwpwdhn 5dq/2d) N10 c< wnup 240
33620000 |Uhjquidw 24 N5 c< winuh 2280| 22800 10
33620000 |Uhjquidw 24 N5 c< wnup 40
33620000 |Ubiquinnt 1%14j N10 e< wnuh 784 0 0
33620000 |Ubkqunnti 1%10) N10 e< wnuh 50
33620000 |Uhnnluyd 14)/100dq N5 c< wnnuh 234524 70357.2 30
33620000 |Uhnnljwpd 14/100dg N5 c< wnup 20
33620000 |Uhnnluwd 150dg N30 c< wnnuh 2581.42| 69698.34 27
33620000 |Uhnnlwyd 150uq N30 c< winith 23
33620000 |[3niuhnnpu unpninpuwwn 100dg N10 c< wninih 2625.68| 13128.4 5
33620000 |[3nituhnnpu unpnuuwwn 100dg N10 c< winith 15
33620000 |Ybwnnypndbu nnu. 30q c< winith 649 0 0




33620000 |Ybwnnypndbu nnu. 30q c< winuth 30
33611170 [Unp-Cww $npuinki 80uqg N24 c< winuth 1053 21060 20
33611170 [Unp-Cwuw $npuinki 80uqg N24 c< winuth 40
33691136 |Lwwnphnuwh pinphn |- 0.9% 2504 c< wnu 190| 636500 3350
33691136 |Lwwphnwh pinphn |- 0.9% 2500) c< winuth 3650
33691136 |Lwuwphnwh pinphn |- 0.9% 1004] c< wnup 188 105280 560
33691136 |Lwuwphnuih pinphn |- 0.9% 1004) c< wnup 940
33691136 [Lwwnphnuwh pinphn. |- 0.9% 5000 c< wnuh 195| 399750 2050
33691136 |Lwuwphnidh pinphn |- 0.9% 5004 c< wnu 2950
33691136 |Lwuwphnidh pinphn |- 0.9% 10004; c< wnuh 240 131520 548
33691136 |Lwwphniih pinphn |- 0.9% 10004; c< wnth 952
33691136 |Lwuwphnwh pinphn - 0.9% 54 N10 c< wnu 205.87| 8876.1 30
33691136 |Lwwphnuwih pinphn |- 0.9% 54 N10 < winuh 220
33620000 |Uhwpn 5dg/24; N5 c< winith 6429.4| 19288.2 3
33620000 [Uhwpn 5dg/24 N5 < winuh 17
33620000 |Uhwpngihgtiphu 0.50q N40 c< wnu 293 0 0
33620000 |Uhwpngihgtiphu 0.5ug N40 < winuh 50
33650000 |Uh$nipndtin 2204dq/54; 1004 c< winith 1758.9| 87945 5
33650000 [ULhdnipndbin 220dq/54) 1004 c< wnuh 15
33691100 [Unynlwjht wdw. 0.5% 24} N10 c< wintth 190.8 0 0
33691100 [Unynlwjht wdw. 0.5% 24d) N10 c< wnuh 50
33691100 [Unynlwjht wdw. 2% 2d) N10 c< wnnuh 190.8 3816 20
33691100 [Unynlwjhu wdw. 2% 2d; N10 c< wnuth 30
33691100 |Undnluwjht |- 0.5% 2504; c< winith 420 29400 70
33691100 |Unynlwjhu |-p 0.5% 2500 < winuth 80
33611380 |UhUninhuwpeent 10dg/d) 10) N10 c< winith 788| 7880 10
33611380 |Uhynwnhuwpepent 10dg/d) 1d; N10 < winuth 40
33631110 |[Uhunwinpti 5UU hwpN20 c< wnuh 230 0 0
33631110 |[Uhunwwnhu 5UU hwpN20 < winuth 50
33660000 |Unjhuynbi Unghuht N30 e< wnuh 3234.26| 210226.9 65
33660000 |[Unjhwpb) Upghuhu N30 c< wintth 35
33691144 |[Lwwnphnwih phnuny$uwn 30% 50 N10 c< wnu 4452| 26712 60
33691144 [Lwwphnwih phnunybwwn 30% 5d; N10 23 winuh 240
33610000 |Lwphuti N120 c< winuh 3277.1| 49156.5 15
33610000 |Lwphuti N120 e< wnuh o5
33620000 |[Ubphiiin N28 c< wnnuh 2554.4 76632 30
33620000 [Ubiphitiin N28 c< wintth 20
33650000 |Unipndbiu dwtly. 100dg/54) (29 winuh 2659.36| 66484 25
33650000 |Unipnbiu dwly. 100dg/50) 23 winuh 25
33661200 [Uhdkuhj 2q thnoh N30 c< winith 2400 0 0
33661200 |Uhdbuh| 2q thnph N30 c< winith 100
33620000 |Mpbuwnwuu 5dg/10 N30 c< winith 4681.99| 70229.85 15
33620000 |Mpkunwuu 5dq/10 N30 c< winith 75
33620000 |Mptuwnwuu 10dg/5 N30 c< winith 5746.09| 172382.7 30
33620000 |Mpkuwnwuu 10dg/5 N30 c< wnup 60
33620000 |Mpbuwnwuu 5dg/5 N30 c< winith 4988.8| 124720 25




33620000 |Mpbuwnwuu 5dg/5 N30 c< winuth 65
33620000 |Mpkunwphnut 5dq N30 c< winith 3133.18| 313318 10
33620000 |Mptuwnwphnut 5dg N30 c< winuth 50
33620000 |Mptuwnwppnu 10dgq N30 < winuh 3990.99| 7981.98 2
33620000 |Mptuwnwphnu 10dg N30 c< winuth 58
33661122 |Nwpwghkinwdng 0.50q N10 < winuh 31.68 3168 100
33661122 |NMwpwgbnwdn 0.5dg N10 c< winuth 100
33661122 [Nwpwgbinwing 09.604] c< wnup 294 2940 10
33661122 |Nwpwgbnwin| 02.604] c< wnuh 40
33650000 |Mwulwy n/h 500/1250q N20 c< wnu 2980 0 0
33650000 |Mwuljwy n/h 500/125dq N20 < winuh 50
33621540 |NMwuwwybphtu dndhy0.02q N10 (29 wnnuth 495 14850 30
33621540 |Nwuwwybtipht dndhy0.02q N10 (74 wntth 50
33621542 |[Nwwwybipht wdw. 2% 2d; N10 c< wnnuh 319 19140 60
33621542 [MNwuwwybiphtu wdw. 2% 24 N10 c< winth 240
33661000 [MNbpubtiu n/h N40 c< wntth 1870 0 0
33661000 |[Mbtpubiu n/h N40 c< winth 50
33661000 |Mbpubu $npinki N20 c< wnnuth 2140 25680 12
33661000 |Mbpubu dnpnnbk N20 c< wintth 38
33691186 |Mhpwgbinwd wdw. 20% 54) N10 c< wnuh 378 64260 170
33691186 |Mhpwgbnwd wdy. 20% 54 N10 c< winih 330
33691186 |Mhpwgtitnwd n/wy 0.4 N10 c< wintth 125 0 0
33691186 |Mhpwgbtinwd n/wy 0.4 N10 c< wnuh 30
33661000 [Mpbnuhgninu 5dq N50 c< wnnuh 313.97 0 0
33661000 |TNpbLnuhgninu 5dg N50 c< wnuh 50
33661000 [Mpngtiphtu 0.05% 1d; N10 c< wnnuh 373 0 0
33661000 [MNpngbtiphtu 0.05% 1d; N10 c< wintth 60
33611390 |Mhphnnpuht 5% 14 N10 c< winith 151.3 3026 20
33611390 [Mhphnnpuht 5% 1d; N10 c< winuh 80
33620000 |Mnjybpunhy24dg N60 c< wnnuh 4148.69| 12446.07 3
33620000 |Mnyytipinhly24udg N60 c< wnup 47
33620000 |Mnidtpunply 16dg N30 c< winith 3735| 74700 20
33620000 |Mnidtipwnhy 16ug N30 23 winuh 30
33622200 |Mpbtinniyunw UN 350q N60 c< winith 4101.58| 246094.8 60
33620000 |Mptnniyunw) UM 350q N60O 23 winuh 20
33622000 |Mwuwught wiuyy. 104 N5 c< winith 1846.54| 203119.4 110
33620000 |Mwuwught wiuy. 106 N5 23 winuh 90
33622000 |Mwuwughti n/h N50 c< wnu 1584.66 0 0
33620000 |Mwuwught n/h N50 23 winuh 50
33631287 |Mhdw$night undhly N3 c< winith 2675.5 0 0
33631287 |Mhdwdnight dndhly N3 c< wnntth 6
33691133 [2nip pnpwd 30004; c< winith 1019.7 0 0
33691133 |2nip pnpwd 300004) c< winith 20
33611341 [Nniphnnp 24) N5 c< winith 2280 0 0
33611341 [Mniphnnp 2d) N5 c< wnntth 100
33691129 |[Mthughkp |-p 5004) c< wnnuh 195| 175500 900




33691129 |Nhugtip |- 5004; c< winuth 4100
33691129 |Nhugtip |- 2500 c< wnuh 190| 137750 725
33691129 |Mhugtip |- 2500 c< winuth 4275
33620000 |Nhuhwnkl 20uq N14 c< wnuh 800.11 0 0
33620000 |Nuhwnkl 20dq N14 c< winuth 20
33621620 |Uwhpnunjwlwnnt 25uq N10 c< wnuh 400 4000 10
33621620 |Uwhpnunjwlwnnt 25uq N10 c< winuth 10
33691100 |Uwwquwwnnt |- 50 N10 c< wnuh 1370| 41100 30
33691100 |Uwwquwwnnt |- 50 N10 < winuh 40
33691100 |Uwwquwignu 20|N10 c< wnu 1246.94 0 0
33691100 |Uwwquwgnu 20N10 < winuh 30
33691100 |[Uwwqdwwnnt n/h N50 c< wnu 590 2950 5
33691100 |[Uwwqdwwnu n/h N50 < winuh 45
33630000 |Uhtuw$jwuh punip 0.025% 15gn c< wnu 180 0 0
33630000 (Uhuwdjwuh punip 0.025% 15gn < winuh 20
33691210 [Uwnpn$wuwnp & 14 0.0025% N10 c< wnu 387.19 0 0
33691211 [Uwpn$wuwnpu & 14 0.0025% N10 < winuh 50
33671113 |[Uwjpnunwdn 20g  N24 c< wnu 318 9540 30
33671113 [Uwjpnunwdng 2dg N24 < winuth 70
33671113 |Uwpnunwding 0. c< wnuh 924.22 0 0
33671113 [Uwjpnunwdn| 0. < winuth 100
33671000 |Ubtpbwnwjn nhulwu 50/100u4q 60 c< wnuh 7644.4| 15288.8 2
33671000 (Ubtpbuwjn nhulwu 50/100dYyq 60 < winuth 16
33620000 |Undwghtw wduy. 500dq N5 c< wnuh 6300/ 126000 20
33620000 |Undwghtw wduy. 500d0q N5 < winuth 10
33650000 |Uwnpkiywndhght n/thnoh 1g c< wnuh 147.74| 199449 1350
33650000 |Uwnpbiwwindhght n/thnoh 1q < winuth 150
33640000 |Unwypwuwnpt wiuy. 1d; N5 c< wnuh 1394.62| 69731 50
33640000 [Unwypwuwnht wdy. 1d] N5 23 winuh 50
33611000 |Udtlnw N30 c< wnu 4285.6| 51427.2 12
33611000 |Udtlunw N30 23 winuh 28
33621110 |dwp$wphu n/h 2.50q N100 c< wnu 1408.8| 4226.4 3
33621110 |[dwpbwphu n/h 2.50q N100 23 winuh 7
33620000 |dwihnni 0.06gN10 c< wnu 86.7 6069 70
33620000 |dwihnni 0.06gN10 23 winuh 30
33611341 |dpluwuny 100g/10N10 c< wnu 9345 18690 20
33611341 |dhlwuny 10dg/1GN10 23 winuh 30
33691187 |Jdhuwngbinhu 0.5% 20N10 c< wnu 697.7 0 0
33691187 |dhuwngbinhu 0.5% 20N10 c< winith 10
33611341 [Yhwpnud “Ywighnd +Yhunwdhu D3 N100 c< winith 3914 0 0
33611341 |dhwpnud Ywighnud +4hunwdhu D3 N100 c< winith 100
33621730 |Jdbipwwwih; 80dg N30 c< winith 748 3740 5
33621730 [dbpwujwdh) 80dqg N30 c< winith 5
33611341 [dhwnwdhu P Yndwbipu npudt N20 c< winith 388.06 0 0
33611341 |dhwwdhu P Ynduytipu npwdt N20 c< winith 20




33611341 [dhwnwdhu P hwdwihp 20 N10 c< winuth 1260 0 0
33611341 [dhwwdhu P hwdwihp 20 N10 c< wnuh 100
33631310 |dnpnwpbkl punip 20.0 c< winuth 1554.1 0 0
33631310 [Ynpuwpbu punip 20.0 c< wnuh 20
33661000 |dnnwpbl 75dq/3d] N5 c< winuth 4475 0 0
33661000 |dnpnwpbu 750q/3d) N5 c< wnuh 50
33661000 |dnpnwpbu kdnyghi 20q c< winuth 1554.11| 2331165 15
33661000 [Ynpunwpbu bdnygh| 20q c< wnuh 15
33620000 |dbpnowhpnu 50dq N30 < winuh 2596.14| 5192.28 2
33620000 |dbpnowhpnu 50dq N30 c< wnu 3
33620000 |dbuub i widyy. 600LU/24d; N10 < winuh 17500 52500 3
33620000 |dbuub) Hnit$ wdy. 600LU/24; N10 c< wnu 2
33661200 |dnipnnu dndhl 100dg N10 < winuh 3011.36| 6022.72 2
33661200 |dnipnnu dndhly 100dg N10 c< wnu 28
33661200 |dnipnntu n/h 100dg N10 < winuh 1290.08| 3870.24 3
33661200 [dnipnnu n/h 100dq N10 c< wnu 17
33631282 [Stpdhuwu dndhy N10 < winuh 3290| 197400 60
33631282 [Stipdhuwu dndhly N10 c< wnu 20
33621100 [Spndpwuwht 100dq N20 < winuth 47456 94912 20
33621100 [Spndpwuwhti 100dg N20 c< wnuh 80
33691100 |Stdwwightu N20 < winuth 382.58| 11477.4 30
33691100 |Shdwwightu N20 c< wnuh 120
33691100 [Swytigh; 1ug N20 < winuth 1181.12| 5905.6 5
33691100 |Swytighy 1dg N20 c< wnuh 25
33691100 [Swytigh] wdy 0.2% 2ml < winuth 1367.62 0 0
33691100 [Swytighy wduy 0.2% 2ml c< wnuh 30
33660000 [Shnlwnwghn 600N5 < winuth 9525.1| 123826.3 13
33660000 |Shnlnuwghn 600N5 c< wnuh 7
33660000 |Stptippnihght 14; N10 23 winuh 6450 0 0
33660000 |Stptippnihght 1] N10 c< wnu 10
33660000 |Stiptippnihght 50; N5 23 winuh 11720 0 0
33660000 |Stiptippnihghti 50 N5 c< wnu 10
33691238 [Skwnwdn dndhy 3250q N10 23 winuh 583.37| 5833.7 10
33691238 |Sknwdn| dndhy 3250q N10 c< wnu 40
33651116 [Sk$wqnihu 1g 23 winuh 167| 208750 1250
33651116 [Stdwqnipu 1g c< wnu 2750
33651118 [St$uiphwpunt 1q 23 winuh 197| 788000 4000
33651118 [St$uiphwpunt 1q c< wnu 2000
33621240 [Shwunynpwjwihu 500d4g N10 c< wnu 164 3280 20
33621240 [Shwunynpwjwihu 500dg N10 c< winith 40
33651134 [Shwpn$inpuwght 250dq N10 c< wnu 198.88| 5966.4 30
33651134 [Shwpn$inpuwghtu 250dq N10 c< winith 70
33611160 [ULwnynwpwdhn 5dq/2d; N10 c< winith 497 0 0
33611160 |Utwnyinwpwihn 5dg/24d) N10 c< winith 20
33650000 |Unpuhghti wsph Yuphy 0,5% 5t c< winuh 2160| 21600 10




33650000 |Unpuhghti wisph Juphy 0,5% 54 c< wntth 10
33650000 |Hhymndhtwy opnwihihly 0,1 % 10U wsph Yuphy c< winuh 1560| 15600 10
33650000 [Yhyndkuwy opuuwhdhl 0,1 % 10U wsph Yuphy c< wntth 10
33650000 |<hqhnn 0,5% 51} wsph Yuphy c< winuh 2160| 21600 10
33650000 |9hqhnn 0,5% 5U] wsph Juph c< wntth 10
33650000 |Uhngnuuihy 2,5 % 10u] wsph Juphy c< winuh 2400| 24000 10
33650000 |Uhgnuunply 2,5 % 104U} wsph uphy c< wntth 10
33650000 [9hqhwyptpu 2,5 % 5uj wsph Yuphy c< wntth 3360 33600 10
33650000 |Ihqhwypkpu 2,5 % 5uj wyph Yuphy c< wnuh 10
33610000 |RJwdwwnby 20dq upy. N5 c< winuh 4292.71| 171708.4 40
33610000 [LJwdwwnt 20dq upy. N5 < winuh 60
33641100 |Opuhwnnght 14 N10 c< winith 810/ 56700 70
33641100 |[Opuhwinghu 1d] N10 c< wnuth 230
33611100 |Odbupuwgn| n/w 20dg N30 c< wnup 386.71| 30936.8 80
33611100 |Odbwpwan| n/w 20dg N30 < winuh 370
33650000 |Oujwnbpu 5000; Mjwqun -Skp 6% 5004] c< wnu 1850 0 0
33650000 [Oujwunbipu 500d] Mjwqin -Skp 6% 5004 < winuh 300
33651150 |Dbyniyntwgn 150uq N1 c< wnup 220.87| 17669.6 80
33651150 [Dyniyntuwgn| 150dq N1 c< winuh 1120
33650000 |[dnipwight 29hYy 541 c< wninih 221 6630 30
33650000 |[bnipwighu 2ohYy Sy; c< wnnuh 20
33621230 [Dnjwppent 1dg N48 c< wnuh 214 0 0
33621230 [Dbnjwppent 1ug N48 < winuth 20
33621230 [Dnjwpepent 5dq N10 c< wnuh 61 0 0
33621230 [bnjwppnt 50q N10 < winuth 20
33611120 |Duwidninhnhu 200g N20 c< wnuh 285 0 0
33611120 |[Dwininhnhu 20uq N20 < winuth 300
33611120 |Duwidninhnhu 40uq N20 c< wnuh 698 0 0
33611120 |[Dwininhnhu 40uq N20 23 winuh 100
33621590 |bnipnubidhn 400uq N50 c< winith 200/ 4000 20
33621590 |Dnipnutidhn 400dg N50 23 winuh 30
33620000 |bhghnintiug 0.4 N14 c< winith 4085.17| 110299.59 27
33620000 |bhghninbug 0.4 N14 23 winuh 23
33671000 |bjwyqwdbn op.150q/4 c< winith 1338.83| 40164.9 30
33671000 |[djwdwdbn 0p.15dg/u) c< wnup 20
33671000 |Udppnpun 0p. 15dq/54] 1004; c< winith 856.41| 12846.15 15
33671000 |Udppnpun] o). 15dq/5u) 1004d] c< wnup 15
33631000 |Dinightwp punip 15q c< winith 1441| 57640 40
33631000 |[dinightwn punip 15q c< wnuh 10
33631287 |Dyniynumnwin 150uq N1 c< winith 1795 0 0
33631287 |dynihynunwn 150dq N1 c< winith 30
33621590 [Ddnipnubidhn wdw. 1% 2d) N10 c< winuh 257| 46260 180
33621590 |Dbnipnubidhn wdwy. 1% 24 N10 c< winith 420
33611000 |dnudwynigh| nnunnn u/p16g N20 c< wnup 2087.63| 25051.56 12
33611000 |bnudwynighi nnunnn u/p16q N20 c< wnuh 8
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